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1. Inrecent years, a number of cities in the U.S. have enacted taxes on soda and
other sweetened beverages. If the policy goal of these city governments is to
raise tax revenue to fund important initiatives such as education programs, this
would be most successful if the price elasticity of demand for these sweetened
beverages is
(A) elastic.

(B) inelastic.
(C) unit elastic.
(D) perfectly elastic.

2. Consider a perfect competitive market. An import tariff will overall
domestic national welfare and an export subsidy will overall domestic
national welfare.

(A) increase; decrease.

(B) have an ambiguous effect on; increase.
(C) have an ambiguous effect on; decrease
(D) increase; have an ambiguous effect on

3. A monopoly differs from monopolistic competition in that

(A) a monopoly has market power while a firm in monopolistic competition
does not have any market power.

(B) a monopoly can never make a loss but a firm in monopolistic competition
can.

(C) in a monopoly there are significant entry barriers but there are low barriers
to entry in a monopolistically competitivsa market structure.

(D) (B) and (C)

(E) (A), (B) and (C).

4. According to the quantity theory of money, the inflation rate equals
(A) the money supply minus real output..
(B) the growth rate of real output minus the growth rate of the money supply.
(C) real output minus the money supply. |
(D) the growth rate of the money supply minus the growth rate of real output.
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5. The Coase theorem states that
(A) government intervention is always needed if externalities are present.
(B) assigning property rights is the only thing the government should do in a
market economy.
(C) if transactions costs are low, private bargaining will result in an efficient
solution to the problem of externalities.
(D) a free-market equilibrium is the best solution to address externalities.

6. Which of the following would contribute to a sustained high rate of economic

growth in the long run in an economy?

(A) growth in capital per hour worked accompanied by technological change

(B) increases in labor force participation rates as workers who are out of the
labor force pursue rising wages ‘

(C) a shift of workers in the economy from the agricultural sector to the
nonagricultural sector

(D) an influx of immigrant labor into an economy without any accompanying
technological change

7. Based on the following information, what is the balance on the current account
inthe U.S.?
Exports of goods and services = $5 billion
Imports of goods and services = $3 billion
Net income on investments = -$2 billion
Net transfers = -$2 billion
Increase in foreign holdings of assets in the United States = $4 billion
Increase in U.S. holdings of assets in foreign countries = -$1 billion
(A) -S2 billion
(B) -$1 billion
(C) S1 billion
(D) $3 billion
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8. What is the government purchases multiplier if the tax rate is 0.2 and the
marginal propensity to consume is 0.75? Assume the economy is closed.
(A) 2.5
(B)5
(C)1.2
(D) 6.7

=~ 2EAFEQC)y > BAE5 )
1. 3R AE & (External economies of scale)
2. X% x (Discourage labors)
3. JEAEdhsg (Phillips curve)
4. %1 K% (Fiat money)
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1. [30 %] Suppose a monopoly can produce any level of output it wishes at
a constant marginal cost of S5 per unit. This firm’s average cost is $5. Assume
the monopoly sells its goods in two different markets. The demand function in
the first market is: Q; = 55 — P;, and the demand function in the second
market is: Q, = 70 — 2P,

a ~ If the monopolist can separate these two markets, what level of output should
be produced in each market? What price will the monopolist charge in each
market? What are the total profits of the monopolist?

b ~ How could your answer in part (a) change if it costs consumers only $4 per unit
to transport goods between the two markets?

¢ * Now assume the two different markets 1 and 2 are just two individual
consumers. Suppose the firm could adopt a linear two-part tariff under which
marginal prices charged to the two consumers must be equal but their
lump-sum entry fees might vary. What pricing schedule should the firm charge
for these two consumers? What is the total profit of the firm?
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